Year 8 —Reasoning with algebra...
Straight Line Graphs

Whatdolneedtobeable

Keywords

to do?

Compare gradients

life graphs

By the end of this unit you should be able to:

» Compare intercepts

» Understand and use y=mx +¢

» Findtheequationofalinefromagraph
* Interpret gradient and intercepts of real-

Allthe points on this line have

a x coordinate of 10

Gradient: the steepness of a line
Intercept: where two Iines cross. The y-intercept: where the line meets the y-axis Parallel
two lines that never meet with the same gradient

Co-ordinate; a set of values that show an exact position on a graph.
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